MoHTaXXHasA MHCTPYKLMSI NO YCTAaHOBKe
MasiTHUKOBbIX NeTenb
DORMA TENSOR

Installation instruction
DORMA TENSOR
Double action hinge

002951
DORMA-Glas Stand/Issue 03.08 800.52.350.6.32



CopepxaHue
Index of contents

1. O630p
1. Overview

2. Komnnekrauyus
2. Scope of delivery

3. BaxHas nHpopmaums
3. Important information

4. MoaroToBka neTenb
4. Preparation of hinges

5. YcTaHOBKa MOHTaXXHOW NNacTUHbI
5. Installation of fixing plates

(o))

. YcTaHoBKa CTEKMAHHOV ABEPU Ha CTeHY (ANs neTenb C HaknagHON MOHTaXKHOW MNacTUHON)
6. Installation of glass door with hinge onto wall (surface mounted mounting plate)

7. YcTaHOBKa CTEKIISIHHOM ABepy B pamy (451 neTenb ¢ BCTPOEHHOW MOHTaXXHOW NIaCTUHON)
7. Installation of hinge and glass door into frame (embedded mounting plate)

8. YcTaHoBKa CTEKNSHHON ABEPY B LLEMbHOCTEKISHHYIO NEpPeropoaxy
8. Installation of hinge and glass door to glass

9. Perynuposka B nosuuumio "0" Ha npumepe masTHukosbix netens TENSOR, ¢ yctaHOBKOWM Ha CTeHy
9. "0" position adjustment by way of example TENSOR double action hinge for installation onto wall

DORMA-Glas Seite/Page 2/13

Ctpannua 3
Page 3

CrtpaHuua 4
Page 4

CtpaHuua 5
Page 5

CtpaHuua 6
Page 6

Ctpanuua 7
Page 7

CTtpaHuua 8
Page 8

CrpaHunua 9
Page 9

Ctpanuua 10

Page 10
Ctp. 11-13
Page 11-13

Stand/Issue 03/08



1. O630p

1. Overview

MasaTHukoBble neTnu TENSOR ansi ycTaHOBKM Ha CTeHy Unu pamy Heob6xoanMble MHCTPYMEHTbI:
C HaKNagHOW MOHTAXXHOW NJIaCTUHOMN Requisite tools:

TENSOR double action hinge for installation onto wall or frame with

surfaced mounted mounting plate LypynosepT

Drill machine

LecturpaHHuk 5 | ——
Allan key 5 mm

LLlecturpaHHuk 4 mm

—
Allan key 4 mm

—r0

CTpouTenbHbI ypoBeEHb
Spirit level

Mnockas oteepTka 0,8 x 4,0 MM
Flat-headed screwdriver

KpecToBasi otBepTKa
Cross-headed (Phillips) screwdriver

MasaTHukoBble netnu TENSOR ans yctaHoBKM B paMy CO BCTPOEHHOW MOHTaXXHOW NnacTuHOMn
TENSOR double action hinge for installation into frame with embedded mounting plate

LLecTurpaHHuk 5 mm —
\‘ Allan key 5 mm
LlecturpaHHuk 4 mm |

Allan key 4 mm

CTpouTtenbHbI ypoBeHb
Spirit level

Mnockas oteepTka 0,8 x 4,0 Mm
Flat-headed screwdriver

S

MasTHukoBble netnn TENSOR gnsa ycTaHOBKM B LleNbHOCTEKNMAHHYO Neperopoaky
TENSOR double action hinge for installation glass to glass

LecTurpanHuk 5 mm —
Allan key 5 mm
—_—

LLlecTurpaHHuk 4 mm
Allan key 4 mm

lMnockas oteepTka 0,8 x 4,0 Mm
Flat-headed screwdriver

DORMA-Glas Seite/Page 3/13 Stand/Issue 03/08



2. Komnnekrauus
2. Scope of delivery

MasiTHukoBble netnu TENSOR ans ycTaHOBKM Ha CTEHY MIM paMy C HaknagHOW MOHTaXXHOMW NiacTUHOMN
TENSOR double action hinge for installation onto wall or frame with surfaced mounted mounting plate

2x Teno netnun
2x Double action hinge

2x MoHTaxHas nnactuHa
2x Fixing plate

12x [lekopaTvBHas Kpbilwka (3 pasnuyHbIx LBeTa)
12x Cover cap (3 different colours)

4x BUHT M6 x 12
4x Countersunk screw M6 x 12

4x PerynmpoBOYHbIA BUHT
4x Reserve set screw (adjustment)

©

MasaTHukoBble netnu TENSOR ans yctaHOBKM B paMmy cO BCTPO€HHOM MOHTaXHOM NIiacTUHOW
TENSOR double action hinge for installation into frame with embedded mounting plate

2x Teno netnun
2x Double action hinge

S
S

2x MoHTaxHas nnactuHa
2x Fixing plate

S

d 12x [lekopaTvBHas Kpbilwka (3 pasnuyHbIX LBeTa)
12x Cover cap (3 different colours)

.@ 4x BuHT M8 x 16

4x Countersunk screw M8 x 16

4x BUHT M6 x 12
4x Countersunk screw M6 x 12

4x PerynmpoBOYHbIA BUHT
4x Reserve set screw (adjustment)

MasTHukoBble netnu TENSOR gnsa ycTaHOBKM B LleNbHOCTEKNMAHHYO NepPeropoaky
TENSOR double action hinge for installation glass to glass

2x Pendeltirband
2x Teno netnu

12x [lekopaTuBHas Kpblllka (3 pa3nuyHbix LUBeTa)
12x Cover cap (3 different colours)

4x PerynmpoBOYHbIA BUHT
4x Reserve set screw (adjustment)

DORMA-Glas Seite/Page 4/13 Stand/Issue 03/08



3. BaxHas nHdopmaums
3. Important information

TexHUYeckue 3a3opbl
Installation gaps

MoaroToBka cTekna
Glass preparation

86 24

o

7Ll
:

TENSOR an Wand
TENSOR onto wall

65
f\};b

BaxHasa nHdopmaums
Important details

[1Bepb MOXeT 1cnonb3oBaTbCs Aaxe
B cny4ae, ecnu "0" perynuposka He
npousseaeHa. Ho npwv ee npmBeaeHun
B nonoxeHwue 90° ByneTt usgaeatbes
rPOMKUIA 3BYK!

ohN®

The door can also be moved before the
“0” point adjustment has been activated.
When the door has moved into the 90°
position a loud noise will be heard!

[apaHTUA He pacnpocTpaHAeTCs Ha NeTnu,
€Cnu NoBpeXAeHa Unu yaaneHa Mapkupo-

BO4YHa4da neHTa.

A full warranty can only be applied if the

identification label has not been damaged

or removed.

DORMA-Glas

82 |24

-

TENSOR in Zarge
TENSOR into frame

o,

Geeignete, auf den Untergrund
abgestimmte Ankersysteme
verwenden.

Please use suitable anchorsystems
(wall plugs) according to foundation.

7

[Mpsimo nepen yCTaHOBKOW CTekna Bce

NOBEPXHOCTU, COoNnpuKacaemMble C NeTnamu,

[OOMKHbI BbITh OUMLLEHbI CTaHAapTHbIMU

YUCTSALLMMU CpencTBaMu Ans cTekna. Hu B
KOEM Criyyae He UCTonb3ynTe PacTBOPUTENb.

All glass clamping areas are to be
cleaned with standard glass cleaning
products prior to installation. Do not use

thinners. geite/Page 5/13

m
(=1
3 3
(o]
82 24
& §°
3

#

g 7

TENSOR an Glas
TENSOR to glass

Ml

Wahrend der Nulllageneinstellung
durfen keine Montagekl6tze oder
ahnliches verwendet werden.

No assembly blocks or similar are
to be used when adjusting "0"

position.

EJWL

3anpeLeHo OTKpbIBaHNE ABEpen
6onee yem Ha 90°.Bo nsbexaHue ucnonbaymnre,
noxanyucra, ctonopa, Art.-Nr.: 29.950.

Prevent excessive opening of the

door (max. 90°). Please use a
stopper! Art.-No.: 29.950

Stand/Issue 03/08



4. NMoproTtoBka netenb
4. Preparation of hinges

MasaTHukoBble neTnu \TENSOR ansi ycTaHOBKM Ha CTeHy Unu Ha pamy / B pamy
TENSOR double action hinge for installation onto wall or frame / into frame

CHUMUTE NPWKUMHYIO KpbIlKy (1.1).
Disassemble counter plate (1.1).

Bbibepute nogxoasaiwmii Habop npoknagok (2.1), ucxoas
13 TONLLMHbI CTeKNa, N0 O4HOM Ha KaXayk U3 CTOPOH (1x).
Choose applicable gasket (2.1), per side 1x.

1 mm = 12 mm TonwumHa ctekna / glass thickness

2 mm = 10 mm TonwwmHa ctekna / glass thickness

3 mm = 8 mm TonwuHa cTtekna / glass thickness

CHUMUTE 3aLLUMTHYIO NIEHKY C aare3vBHbIX NoBepxHocTel (3.1)
1 3aUKCUPYITE C MX MOMOLLbIO MPOKNaaKku (OAHY Ha
Tene nNeTnu, ApYryio - Ha NPW>KUMHOW KpbILLKe).

Peel of the protection film from adhensive tape
(3.1) and fix the applicable gasket onto the
base and counter plate.

MasaTHukoBble neTAIMTENSOR ans yctaHOBKM Ha CTeKNo
TENSOR double action hinge for installation glass to glass

CHUMUTE NPWKUMHYIO KPbILLKY (1.2).
Disassemble counter plate (1.2).

Bbibepute nogxoasiwmii Habop npoknagok (2.2), ucxoasa 3
TOMLWMHBI CTEKNa, N0 OAHOWN Ha KaXayto 3 cTopoH (1x).
Choose applicable gasket (2.2), per side 1x.

1 mm = 12 mm TonwwHa ctekna / glass thickness

2 mm = 10 mm TonwwmHa ctekna / glass thickness

3 mm = 8 mm TonwwmHa ctekna / glass thickness

CH/MUTE 3aLUMTHYIO MIEHKY C aare3vBHbIX nosepxHocTten (3.2)
1 3apuKcMpyiiTe C X MOMOLLbIO NPOKIaAKM (OAHY Ha
Tene neTnu, ApYryto - Ha NPWXUMHON KpbILLIKE).

Peel of the protection film from adhensive tape
(3.2) and fix the applicable gasket onto the
base and counter plate.

CHUMWTE NPUKUMHYIO KpbILKy(1.1).
Disassemble counter plate (1.1).

Bbibepute nogxoasimii Habop npoknagok (2.1), ucxoas ns
TONLUMHBI CTEKMa, NO OAHOW Ha KaXKayHo U3 CTOPOH (1x).
Choose applicable gasket (2.1), per side 1x.

1 mm = 12 mm TonwuHa ctekna / glass thickness

2 mm = 10 mm TonwwmHa ctekna / glass thickness

3 mm = 8 mm TonwwmHa ctekna / glass thickness

CH/MUTE 3aLUMTHYIO MIEHKY C aare3vBHbIX nosepxHocten (3.1)
1 3apuKCMpyirTe C UX MOMOLLIbIO NPOKNaaku (O4Hy Ha Tene
neTnun, ApYryto - Ha NPWXUMHOW KpbILLKE).

Peel of protection film from adhensive tape
(3.1) and fix the applicable gasket onto the
base and counter plate.

DORMA-Glas Seite/Page 6/13 Stand/Issue 03/08



5. YcTaHOBKAa MOHTaXXHOW NNacTUHbI
5. Installation of fixing plates

MasiTHukoBble netnu TENSOR ans ycTaHOBKM Ha CTEHY UMW paMy C HaKnagHOW MOHTaXXHOW MiacTUHOM
TENSOR double action hinge for installation onto wall or frame with surfaced mounted mounting plate

3adukenpyinte MOHTaXHyto nNnacTuHy (4.1) Ha Tene neTnm
C nomotypto BUHTOB M6 x 12 (5.1).
Honyctumoe ycunue - 12 Hwm.

Install fixing plate (4.1) via countersunk screw
M6 x 12 (5.1).
Tightening torque 12 Nm.

MasaTHukoBble netnu TENSOR ansi yctaHOBKM B paMmy cO BCTPO€HHOM MOHTaXHOM NlacTUHOW
TENSOR double action hinge for installation into frame with embedded mounting plate

1) Pacnonoxwte BuHTHI M8 x 16 (6.2) B cooT-
BETCTBYHLUME OTBEPCTUS MOHTAXXHOW NNAacTUHbI(4.2).

2) CoefnHUTE MOHTaXHYI0 NnacTuHy (4.2) c Tenom netnm
nocpeacTsom BUHTOB M6 x 12 (5.2).

Oonyctumoe ycunue - 12 Hwm.

Place countersunk screws M8 x 16 (6.2) into
applicable counterbore of mount plate (4.2).
Install fixing plate (4.2) via countersunk screw
M6 x 12 (5.2) to hinge.

Tightening torque 12 Nm.

Bohrbilder
Cxema Kpenexemn

Befestigung an Wand Befestigung in Zarge

YcTaHoBKa Ha CTeHy 'l: YcraHoBKa B pamy

c)
70 <
4 % / ’/
Abhzngig von Befestigungsmittel {i”/ [riy6iHa chpeaepoBKyt - 4 M.
Papuyc B 3aBucMmocTu oT pasmepa atobens BaxeH MaTepuan HecyLLeil KoHCTpyKLmM!
3 BaxeH maTepuan HecyLlen KOHCTpyKuum! N Milled cutout 4 mm deep.
e . Condition is a suitable

Condition is a suitable substructure!

substructure!

Lo +

DORMA-Glas Seite/Page 7/13 Stand/Issue 03/08



6. YcTaHOBKa CTEKJISIHHOM ABepyU B CTEHY (AN1A neTesib C HaKfIa4HOW MOHTaXHOW NSIaCTUHOMN)
6. Installation of glass door with hinge onto wall (surface mounted mounting plate)

MasTHukoBble netnu TENSOR ansi ycTtaHOBKM B CTEHY MU pamy € HaKknajgHOW MOHTaXXHOW NnacTUHON
TENSOR double action hinge for installation onto wall or frame

YcTaHoBUTE NETNI0 B CTEKMNSIHHOE NOMOTHO B 3apaHee
NMOArOTOBMNEHHbIE BbIpe3bl U BbipaBHUTE ee. [NpukpyTute
NPWKMMHYIO KPbILKY. Ycunve 3atarsanns - 15 Hw.
Anzugsmoment 15 Nm.

Set the glass door onto assembling trestle,
place hinges into glass cutout and align.
Install counter plates.

Tightening torque 15 Nm.

YcTaHoBWTE CTEKMSIHHYIO ABEPL C NETNSAMMU

PaameTbTe 0TBEpCTUSA MOA KPENEXMN C NMOMOLLIbH MOHTaXHOW
nnacTuHbl. Pasmep oTBEPCTUI 3aBUCUT OT UCMOSb30BAHHbLIX
nrobenen.

Set the glass door with hinges into the opening
and align. Please consider gaps!

Mark drilling points through the fixing plate.
Drillings depending on wall plug.

Moxanyncra, ncnonb3ynte NoaxoAsLiMe AN matepuana
CTEHbI aHKepHble cucTeMbl (atbens). MicnonbayiiTe oLMHKOBaH-
Hble BUHTbI B noTan DIN 7997 6 x ... nnu DIN 7991 M6 x ... .
MeTnu fomkHLI COOTBETCTBOBaTL BEPTUKaNbHOMY OTBECY

(ans atoro Bam MoryT noHagobuTbca npocTaBku). BaxHo,
rocre BbIpaBHWBaHWSA MO YPOBHIO BCe BOCMOMOraTernbHble
3MeMeHTbl BpoAe NMPOCTaBOK UMW NOASIOXKEK AOIHKHbI ObITb
yaaneHbi!!!

Please use suitable anchorsystems (wall
plugs) according to foundation. Wood screw
with countersunk head DIN 7997 6 x ... zinc
plated or countersunk screw DIN 7991 M6 x ...
zinc plated.

The hinges must be fitted plumb (vertical) and
flush (you may need to shim the base plate
with appropriate material). Assembly blocks or
similar are to be removed after this work step.

DORMA-Glas Seite/Page 8/13 Stand/Issue 03/08



7. YcTaHOBKa CTEKIsIHHOM ABepu B pamy (ANsA neTenb ¢ BCTPOEHHOW MOHTaXXHOM NiacTUHOM)
7. Installation of hinge and glass door into frame (embedded mounting plate)

MasaTHukoBble neTnu TENSOR ans yctaHOBKM B pamy CO BCTPOEHHOW MOHTaXHOM NracTUHOWM
TENSOR double action hinge for installation into frame with embedded mounting plate

DORMA-Glas

Seite/Page 9/13

3admkcupyiiTe NeTno Co BCTPOEHHON MOHTaXXHOW NacTUHOM
nocpencTsoM BUHTOB M8 x 16 (6.2).
Honyctumoe ycunue - 20 Nm.

Fix fittings to prepared frame via countersunk
screw M8 x 16 (6.1).
Tightening torque 20 Nm.

YcTaHOBUTE CTEKISAHHYH ABEPb B NMPOEM U BbipaBHUTE.
MpuKpyTUTE NPXUMHBIE KPbILLKK. [lonycTuMoe ycunue -

15 Nm. MNoxanyiicTta, cobniofarite TexHonormyeckue 3a3opbi!
MpocTaBku, NOANOXKM 1 NOAOGHbLIE BCOMOraTerbHble
3NeMeHTbl Mocne 3TOoro wara AoMmkHbl ObiTb 06513aTeNbHO
yoaneHsbl!

Set the glass door into the opening and align.
Install counter plates.

Tightening torque 15 Nm. Please consider gaps!
Assembly blocks or similar are to be removed
after this work step.

Stand/Issue 03/08



8. YcTaHOBKa CTEKNAHHON ABEPU B LIENbHOCTEKIISIHHYIO Neperopoaky
8. Installation of hinge and glass door to glass

MasiTHukoBble netnu TENSOR ans yctaHOBKM B LieNIbHOCTEKIISIHHYHO Neperopoaky
TENSOR double action hinge for installation glass to glass

YcTaHoBMTE NETNM TOYHO B BbIPE3 CTEKMa
1 NPUKPENUTE NPWKUMHYIO KPbILLKY.
Oonyctumoe ycunue -15 Nm.

Set hinges flush to glass edge into the glass
cutout and install counter plates.
Tightening torque 15 Nm.

e
B NPUTBIK
flush

N

YcTaHoBUTE CTEKMSAHHYIO ABEPb B NPOEM 1 BblpaBHUTE.
MpukpenuTe NPUXMMHbBIE KPbILLKM (CM. PUCYHOK).
Honyctumoe ycunue - 15 Nm.

Moxanyincra, cobniogaiTe TexHonornyeckune 3asopsbi!
MpocTaBkun, NOANOXKN U ApYyr1e BCroMoraTernbHble
3MNeMeHTbl JOMMKHbI ObITb yaaneHsl nocne aToro wara!

Set the glass door into the opening and align.
Install counter plates.

Tightening torque 15 Nm. Please consider gaps!
Assembly blocks or similar are to be removed
after this work step.

DORMA-Glas Seite/Page 10/13 Stand/Issue 03/08



9. PerynupoBka B nosuuumio "0" Ha npumepe masiTHUKoBbIx netenb TENSOR, ¢ yctaHOBKOW Ha CTeHy
9. "0" position adjustment by way of example TENSOR double action hinge for installation onto wall

9.1 9.2

ca. 1x

TonwmHa CTéKHa—
Glass thickness

MeTnn noctaenstotcsa 6e3 "0" perynupoBku. TonkHUTe AABEpPHOE MONOTHO PYKOWN M3 HYNEBOW MO3ULIMK
Ha atane perynuposku B no3uuuto "0" HUKaKnx BCNomo- NPYMEPHO Ha TOMLWUHY CTekna.

raTesibHbIX MPOCTABOK U T.M. HE AOMKHO ObITb!
Move door panel in possible adjustment range by hand

The hinges are delivered without pre-adjusted "0" position. approx. 1x glass thickness away from body and ideal position.
No assembly blocks or similar are to be used when adjusting

"0" position.

9.3 9.4

HayHuTe 3akpyumBaTb perynmpoBOYHbIE BUHTbI HA HUXKHEN 3akpy4ymBanTe perynmpoBOYHbI€ BUHTBI HA BEPXHEN NeTre No YacoBOW CTpeske
neTne No YacoBOW CTPESKe C MOMOLLbIO MIIOCKOW OTBEPTKM [0 Tex nop, noka ABepHoe NoroTHO He AocTurHeT "0" nosuuun.
[0 Tex nop, Noka ABepHOE MOMOTHO HE HAYHET CMeLLaThbCs.
Turn adjusting screw of top hinge clockwise, until door panel
Turn adjusting screw of bottom hinge clockwise via reaches ideal "0" position.
flat-headed screwdriver, until door panel begins to move.

9.5 9.6

[ WpeanbHad "0" noavuug
ideal "0" position

MpoBepbTe naeansHyto "0" nosunuuto. Ecnu aBepHoe nonotHo  OTKpoWiTe ABEPb U NPOMANTE CKBO3b Hee Ans pPeryrMpoBKM ¢ 06paTHON CTOPOHbI.
cmecTunock aanee "0" nosvuun,Toraa BeIKpyTUTE perynmpo- Open and go through door.
BOYHbI€ BUHTbLI MPOTUB YaCOBOW CTPENKU N HAYHUTE C NYHKTa 2 elle pas.

Check of ideal "0" position. If door panel has moved further
than "0" position, loosen setting screws anti-clockwise and
restart from 2.).

DORMA-Glas Seite/Page 11/13 Stand/Issue 03/08



9.7 9.8
]

NpeanbHasga "0" nganum
ideal "0" position

—_—

PerynnpoBo4Hble BUH
Principle of
adjustment

|

MpuBeanTe OBEPHOE MOMOTHO PYKOW B MaeanbHyt "0" no3unuuio. 3aTsaHUTe perynMpoBOYHbIE BUHTBI HXKHEN NeTv Mo YacoBOW CTpesike.
Move door panel by hand into ideal "0" position. (~5Nm / max. ycunue).

Tighten setting screw of bottom hinge clockwise
(~5Nm / max. hand tight).

9.9 9.10

3aTsaHNTEe perynmpoBOYHbIe BUHTbI BEPXHEN NeTnm no yacoBon OTKponTe ABEpb U NPOVMAUTE CKBO3b Hee ANs perynvpoBKM C 0B6paTHON CTOPOHBI.
ctpenke (~5Nm / max. ycunue). Open and go through door.

Tighten setting screw of top hinge clockwise
(~5Nm / max. hand tight).

9.11 9.12

3aTAHUTE perynmpoBOYHbIE BUHTbI HKHEN NETNN YXKe C Apyro 3aTsHWTe perynupoBOYHble BUHTBI BEPXHEN NeTnm
CTOPOHbI ABepK Nno Yacosow ctpernke (~5Nm / max. ycunue).  no 4acosou ctpenke (~5Nm / max. ycunue).

Re-tighten setting screw of bottom hinge clockwise Re-tighten setting screw of top hinge clockwise
(~5Nm / max. hand tight). (~5Nm / max. hand tight).

DORMA-Glas Seite/Page 12/13 Stand/Issue 03/08



9.13 9.14

[MpoBepbTe, Kak OKoHYaTenbHO paboTaeT masTHUKOBas ABepb. Ecnn Bac He ycTpavBaeT kak oTperynvpoBaHa "0" no3unuus, BelkpyTUTE
Check finally swing action of door. perynmpoBOYHbIE BUHTBI HA HUXXHEW 1 BEPXHEN NeTnsaxX ¢ OAHOW CTOPOHBI,
3aTem ocnabbTe KX C MPOTUBOMONIOXHON CTOPOHbI. HayHMTe BHOBb C NMyHKTa 92

If "0" position is not satisfactory, loosen setting screws top

and bottom on one side, then re-tighten setting screws on
opposite side. Principle as under 9.2).

9.15

YcraHoBuTe OEKOPaTMBHYHO KPbILLKY Ha BCe NMeTsin CO BCEX CTOPOH.
Press in all cover caps.

DORMA-Glas Seite/Page 13/13 Stand/Issue 03/08



